Svenska Bridgeférbundet
IAF Allsvenskan, division 2, 2:2

IMP over féaltet, 44 bord, 88 par. Antal brickor: 12.

Plac

Par

Poang

3.18
2.56
2.19
2.16
2.15
2.04
2.01
1.97
1.92
1.86
1.83
1.77
1.75
1.66
1.64
1.55
1.52
151
1.50
1.04
0.90
0.89
0.88
0.88
0.83
0.81
0.66
0.64
0.62
0.55
0.54
0.54
0.53
0.50
0.43
0.30
0.21
0.17
0.16
0.09
0.09
0.07
0.07
0.03
-0.03
-0.07
-0.07
-0.09
-0.09
-0.16
-0.17
-0.21
-0.30
-0.43
-0.50
-0.53
-0.54
-0.54
-0.55
-0.62
-0.64
-0.66
-0.81
-0.83
-0.88
-0.88
-0.89
-0.90
-1.04
-1.50
-1.51
-1.52
-1.55
-1.64
-1.66
-1.75
-1.77
-1.83
-1.86
-1.92
-1.97
-2.01
-2.04
-2.15
-2.16

Namn
Hakan Lindblom - Petter Fryklund

Lars Arthur Johansen - Kristian Barstad Ellingsen

Bjorn Sanzén - Peter Billgren

Peder Skaj - Frederic Wrang

Bjorn Thalén - Bjorn Sérling

Johan Upmark - Fredrik Nystrom
Harald Sjéman - Rudi Knutson

Henrik Fryklund - Jim Albertsson
Anders Morath - Tommy Gullberg
Ronny Ovesson Ejnell - Jan-Erik Asmo
Magnus Ekman - Peter Carlsson

Pér Ljungquist - Billmar Carlsson

Bengt-Erik Efraimsson - Anna Zack Efraimsson

Terje (N) Lie - Ole Marius Myrvold
Per-Arne Karlsson - Anders Stavarby
Rolf Back - Sylve Larsen

Mats Bud - Per Lindstrom

Fredrik Mirhag - Tommy Petersson
Henrik Noberius - Bo Roos

Leif Trapp - Gunnar Elmroth

Mattias Weiler - Jenny Rudenstal
Ingemar Assarsjo - Peter Norrhede
Rolf Westman - Borje Liljekvist
Fredrik Jarlvik - Rolf Bengtsson
Orjan Sjoberg - Per Schullstrém
Hans Olsson - Bengt Palsson

Pontus Karlsson - Torbjorn Olsson
Petter Bengtsson - Mikael Westin
Johan Nilsson - Borje Rudenstal
Joachim Borgel - Magnus Hultman
Thomas Brehmer - Johan Gronkvist
Lars-Goran Ostlund - Jan Fransson
Sanna Clementsson - Klas Bellander
Micael Svensson - Peter Arlegard
Per Clarin - Torbjoérn Gustavsson
Olle Axne - Leif Ruthstrém

Per Jansson - Mikael Westerlund
Tommy Linder - Olle Sandstrém
Mikael Hjerm - Kalle Prorok

Jonas Engstrom - Daniel Sivelind
Lena Johansson - Leif Johansson
Maria Gronkvist - Catharina Ahlesved
Lars Ornberg - Tomas Linder

Dan Bylund - Helena Stromberg
Hans-Ove Sandin - Alexander Sandin
Jan Brannvall - Hans Lerner
Torbjorn Sandbéack - Par Unander
Per Ostlund - Robert Back

Gunnar Lindell - Peter Knudsen
Thord Lindberg - Pierre Thunstrom
Valter Johansson - Peder Linder
Jorgen Lantz - Ricky Johansson
Carina Sjoblom - Lennart Bylund
Anders Blomqvist - Lars Manneteg
Lars Lundgvist - Lars Nilsson

Perry Sjoberg - Jan Gutenwik

Ake Rustad - Johan B. Lisra

Thomas Karlsson - Bo Sundell
Catarina Midskog - Anna Roos
Roland Gyllenhammar - Jesper Rundin
Urban Finnsson - Berith Finnsson
Leif Axelsson - Fredrik Axelsson
Simon Granath - Erik Ahlgren

Carl Ek - Goran Levan

Jorgen Neldemo - Jan-Erik Helmersson
Sven-Owe Andersson - Hans Vestergren
Anders Erikson - Yiva Pyykko
Lennart Fredriksson - Bjorn Astrém
Lars Ericson - Bo Ericson

Roger Nyman - Niclas Samuelsson
Kim Lichtenstein - Ola Stavas

Sara Asplund Sivelind - Karl Asplund
Jonas Hogedal - Martin Isetorp

Kjell Karlsson - Tommi Ramstedt
Hakan Straaf - Mats Sjoberg

Simon Hult - Peter Bertheau

Mikael Danielsson - Conny Johansson
Mats Hall - Lars Kjellersson

Stefan Asgérden - Géte Berntsson
Ida Gronkvist - Emma Ovelius
Rasmus Graberg - Ulf Sj6linder
Thomas Johansson - Roland Andersson
Lars Andersson - Bjorn Wenneberg
Tommy Svensson - Leif Andréasson
Adam Stokka - PO Sundelin
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1437
57869
5900
83430
23411
24498
8915
82649
4664
2489
6926
13363
127
62238
1246
8794
234
15818
79008
12180
11482
647
2821
4451
25534
13278
3645
11369
13918
4050
4133
2995
55629
2383
10538
8354
2485
13938
82732
11389
15309
1076
14186
8223
9981
14003
70
11850
16249
5302
6210
1612
3382
2823
6692
5775
13652
8958
2490
252
11072
1706
26207
5294
18660
8954
3396
9424
12536
7522
11826
16660
29993
4136
1161
36107
10621
148
3901
31083
50617
18680
5351
7520
30515

MID

1182
53124
4458
8652
80438
18356
4857
3924
9047
2970
11594
1935
4049
47699
8605
11960
15223
12924
13691
8335
15767
2488
2874
4614
28089
6272
12371
14022
2336
14044
8342
12537
4541
4024
1255
13060
9690
88848
5352
12589
18448
7124
3301
12565
41730
166
12980
11174
1290
17974
18079
14425
8234
2944
50311
6302
137
3413
4289
80778
12506
93699
33687
11679
4243
33345
50062
9262
2962
4362
1134
80064
15359
51783
1198
16757
1787
1163
92122
80922
4790
1766
1912
7519
1171




86 E202 -2.19 Torgny Carlsson - Jan Enarsson 10237 4272
87 Q2 -2.56 Olof Bergstrom - Jan-Erik Thomasson 1200 1304
88 R101 -3.18 Bjorn Forsberg - Krister Berg 8319 9747
13 « DKn985 Bésta kontrakt 14 4752 Bésta kontrakt
Nord vK 4v O =-620 Ost vED1043 2NT S =120
Alla + D10852 Ingen ¢ 62
#Kn3 & ¢ v & NT #K73 % ¢ v & NT
& EK102 476 N48 363 4 EKD8 4943 N6 887 8
vKn3 v ED98654 S 48363 v K86 v 975 S 6887 8
¢+ K 4943 O 8 4 106 6 ¢ 10874 ¢E3 06 34605
#D107642 &E V 8 4 106 6 *104 #DKn962 V74565
443 « Kn106
v 1072 v Kn2
¢+ EKn76 + KDKn95
#K985 #E85
Par Kontr ut Res Poang Par Kontr ut Res Poang
P103 P303 3N V-2 2 200 541.0 -541.0 E2 E202 4y N= *9 420 359.0 -359.0
F101 F301 4v O-1 v2 100 507.0 -507.0 B102 B302 2v N +3 *A 200 152.0 -152.0
H103 H303 2v O +3 a4 -200 360.0 -360.0 K2 K202 2v N +1 v5 140 91.0 -91.0
N103 N303 3v O +2 a4 -200 360.0 -360.0 Q2 Q202 2v N +1 *Q 140 91.0 -91.0
C1 C201 4v O= a4 -620 -27.0 27.0 L101 L301 2v S+1 aA 140 91.0 -91.0
Gl G201 4v O= a4 -620 -27.0 27.0 L102 L302 2v S+1 s A 140 91.0 -91.0
11 1201 4y O = 43 -620 -27.0 27.0 P103 P303 3y N= a2 140 91.0 -91.0
Q1 Q201 4v O = a4 -620 -27.0 27.0 K1 K201 INS+1 4 K 120 68.0 -68.0
G2 G202 4v O= »8 -620 -27.0 27.0 M1 M201 INS+1 s A 120 68.0 -68.0
12 1202 4y O = a4 -620 -27.0 27.0 12 1202 2N S = aA 120 68.0 -68.0
K2 K202 4y O= »8 -620 -27.0 27.0 M2 M202 1IN S +1 4 K 120 68.0 -68.0
02 0202 4v V= 2 -620 -27.0 27.0 02 0202 INS+1 s A 120 68.0 -68.0
Q2 Q202 4v O= a5 -620 -27.0 27.0 03 0203 INS+1 aA 120 68.0 -68.0
A3 A203 4y O = v2 -620 -27.0 27.0 P101 P301 INS+1 aA 120 68.0 -68.0
D101 D301 4v O= a5 -620 -27.0 27.0 El E201 2v N= ¢ A 110 48.0 -48.0
H101 H301 4v O = a4 -620 -27.0 27.0 o1 0201 2v N= ¢A 110 48.0 -48.0
J101 J301 4y O= 46 -620 -27.0 27.0 N101 N301 2v S= 4 K 110 48.0 -48.0
L101 L301 4v O = a5 -620 -27.0 27.0 C1 C201 24 V-2 +6 100 39.0 -39.0
N101 N301 4v O= v2 -620 -27.0 27.0 G2 G202 24 V-2 +6 100 39.0 -39.0
P101 P301 4y O = a4 -620 -27.0 27.0 M3 M203 24 V-2 +6 100 39.0 -39.0
B102 B302 4y O = a4 -620 -27.0 27.0 F101 F301 24 V-2 +6 100 39.0 -39.0
D102 D302 4v O = v3 -620 -27.0 27.0 F102 F302 24 O-2 +6 100 39.0 -39.0
F102 F302 4v O = a4 -620 -27.0 27.0 H102 H302 2& V-2 46 100 39.0 -39.0
J102 J302 4y O = a4 -620 -27.0 27.0 J102 J302 2# O -2 ¢+ K 100 39.0 -39.0
L102 L302 4y O = a4 -620 -27.0 27.0 N102 N302 24 V-2 +6 100 39.0 -39.0
P102 P302 4y O = a4 -620 -27.0 27.0 Q1 Q201 INS= aA 90 24.0 -24.0
R102 R302 4v O = v2 -620 -27.0 27.0 Al A201 24 V-1 +6 50 -28.0 28.0
B103 B303 4y O = a5 -620 -27.0 27.0 Gl G201 24 O-1 +6 50 -28.0 28.0
Al A201 4v O +1 a4 -650 -70.0 70.0 G3 G203 24 V-1 +6 50 -28.0 28.0
El E201 4v O +1 a4 -650 -70.0 70.0 H101 H301 24 V-1 +6 50 -28.0 28.0
K1 K201 4v O +1 a4 -650 -70.0 70.0 P102 P302 24 V-1 +6 50 -28.0 28.0
M1 M201 4v O +1 43 -650 -70.0 70.0 B103 B303 24 V-1 +6 50 -28.0 28.0
o1 0201 4v O+1 a4 -650 -70.0 70.0 N103 N303 24 V-1 ¢+6 50 -28.0 28.0
A2 A202 4v O +1 *A -650 -70.0 70.0 11 1201 2v S-1 aA -50 -138.0 138.0
C2 C202 4v O +1 a4 -650 -70.0 70.0 A2 A202 2v N-1 *0Q -50 -138.0 138.0
E2 E202 4v O +1 a4 -650 -70.0 70.0 A3 A203 2v N-1 ¢ A -50 -138.0 138.0
M2 M202 4v O +1 LYy -650 -70.0 70.0 B101 B301 2v N-1 *0Q -50 -138.0 138.0
G3 G203 4v O +1 a4 -650 -70.0 70.0 J101 J301 3NN-1 3 -50 -138.0 138.0
M3 M203 4v O +1 a4 -650 -70.0 70.0 D102 D302 3¢ S-1 «Q -50 -138.0 138.0
03 0203 4v O +1 LYy -650 -70.0 70.0 R102 R302 2v N-1 *0Q -50 -138.0 138.0
B101 B301 4y O +1 a4 -650 -70.0 70.0 H103 H303 2v S-1 aA -50 -138.0 138.0
R101 R301 5v O= a4 -650 -70.0 70.0 C2 C202 3v S-2 s A -100 -192.0 192.0
H102 H302 4v O +1 LY -650 -70.0 70.0 R101 R301 2v N-2 43 -100 -192.0 192.0
N102 N302 4v O +1 46 -650 -70.0 70.0 D101 D301 4v N-3 43 -150 -238.0 238.0
15 4 K2 Basta kontrakt 16 4 Kn865 Basta kontrakt
Syd vE954 44 V D -2 300 Vast v K964 ANT V =-630
NS *4 oV *7
#EDKn874 & ¢ v & NT £10642 & ¢ v & NT
« DKn63 4 E854 N 8 5 105 7 494 «KD10 N4526 3
v K32 v6 S 8 5 105 8 vE8732 v DKn105 S45 26 3
¢+ E8 + D109765 057374 ¢ ED103 ¢ 86 O 8 7 106 10
#K1062 #95 V58386 &D7 #EKNn83 vV 8 7 106 10
1097 4 E732
v DKn1087 v-
¢ KKn32 ¢ KKn9542
&3 K95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
o1 0201 54DV -4 A 800 458.0 -458.0 C1 C201 4v V-2 ¢7 200 272.0 -272.0
Cc2 C202 4v S= *A 620 344.0 -344.0 Q1 Q201 4vDV-1 .7 200 272.0 -272.0
E2 E202 4v N= *9 620 344.0 -344.0 P102 P302 4v V-2 .7 200 272.0 -272.0
G2 G202 4v N= +9 620 344.0 -344.0 Al A201 4v V-1 ¢7 100 174.0 -174.0
K2 K202 4v N= aA 620 344.0 -344.0 El E201 4v V-1 .7 100 174.0 -174.0
M2 M202 4v S= ¢A 620 344.0 -344.0 11 1201 4v V-1 .7 100 174.0 -174.0
H101 H301 4v N= ¢+6 620 344.0 -344.0 K1 K201 4v V-1 ¢7 100 174.0 -174.0
J101 J301 4y N= +5 620 344.0 -344.0 M1 M201 4v V-1 +6 100 174.0 -174.0
L101 L301 4y N= *9 620 344.0 -344.0 o1 0201 4v V-1 .7 100 174.0 -174.0
P101 P301 4v S= 2 Q 620 344.0 -344.0 C2 C202 4v V-1 ¢7 100 174.0 -174.0
B102 B302 4v S= *A 620 344.0 -344.0 E2 E202 4v V-1 .7 100 174.0 -174.0
H103 H303 4v N= *9 620 344.0 -344.0 G2 G202 4v V-1 .7 100 174.0 -174.0
12 1202 44D O -3 3 500 262.0 -262.0 K2 K202 4v V-1 ¢7 100 174.0 -174.0
11 1201 44D O -2 3 300 94.0 -94.0 A3 A203 4v V-1 .7 100 174.0 -174.0
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P103 P303 3NV -5 & 250 48.0 -48.0 G3 G203 4y V-1 *7 100 174.0 -174.0
D101 D301 3v S+1 a5 170 -18.0 18.0 03 0203 4v V-1 7 100 174.0 -174.0
G3 G203 34 V-3 +6 150 -34.0 34.0 B101 B301 4v V-1 *7 100 174.0 -174.0
B101 B301 34 V-3 vA 150 -34.0 34.0 H101 H301 4v V-1 *7 100 174.0 -174.0
P102 P302 34 V-3 *4 150 -34.0 34.0 J101 J301 4v O-1 *2 100 174.0 -174.0
K1 K201 3v N= +9 140 -41.0 41.0 P101 P301 4v V-1 *7 100 174.0 -174.0
M1 M201 3v S= 46 140 -41.0 41.0 D102 D302 4v V-1 +6 100 174.0 -174.0
R101 R301 3v N= +9 140 -41.0 41.0 F102 F302 4v V-1 *7 100 174.0 -174.0
N101 N301 2v S= v3 110 -81.0 81.0 H102 H302 4v V-1 *7 100 174.0 -174.0
Gl G201 34 O-2 &3 100 -85.0 85.0 J102 J302 4y V-1 46 100 174.0 -174.0
Q1 Q201 44 V-2 SA 100 -85.0 85.0 N102 N302 4v V-1 *7 100 174.0 -174.0
A3 A203 44DV-1 *4 100 -85.0 85.0 R102 R302 4v V-1 *7 100 174.0 -174.0
H102 H302 34 V-2 *4 100 -85.0 85.0 H103 H303 4v V-1 *7 100 174.0 -174.0
R102 R302 2& N= v6 90 -97.0 97.0 N103 N303 4v V-1 *7 100 174.0 -174.0
C1l C201 3¢ V-1 vA 50 -131.0 131.0 P103 P303 4v V-1 *2 100 174.0 -174.0
D102 D302 4v V-1 *7 50 -131.0 131.0 02 0202 3v O= *4 -140 -30.0 30.0
F102 F302 24 V-1 *4 50 -131.0 131.0 Gl G201 4y V= *7 -620 -339.0 339.0
L102 L302 24 O-1 &3 50 -131.0 131.0 A2 A202 4y V= .7 -620 -339.0 339.0
N103 N303 3a V-1 *4 50 -131.0 131.0 M2 M202 4y V= *7 -620 -339.0 339.0
A2 A202 2¢ O= &3 -90 -250.0 250.0 Q2 Q202 4y V= *7 -620 -339.0 339.0
E1l E201 4v S-1 *A -100 -253.0 253.0 M3 M203 4y V= 7 -620 -339.0 339.0
02 0202 4v N-1 +8 -100 -253.0 253.0 D101 D301 4v V= a5 -620 -339.0 339.0
Q2 Q202 4v S-1 &Q -100 -253.0 253.0 R101 R301 4v V= *7 -620 -339.0 339.0
F101 F301 4v N-1 +9 -100 -253.0 253.0 L102 L302 4v V= .7 -620 -339.0 339.0
Al A201 34 O +1 &3 -170 -319.0 319.0 L101 L301 4v V+1 *7 -650 -380.0 380.0
M3 M203 3a V +1 SA -170 -319.0 319.0 N101 N301 4v V+1 *7 -650 -380.0 380.0
03 0203 24 V +2 &A -170 -319.0 319.0 12 1202 4vDV = *7 -790 -440.0 440.0
J102 J302 5v S-2 &Q -200 -337.0 337.0 F101 F301 3¢DS-4 a5 -800 -466.0 466.0
N102 N302 4v S-2 46 -200 -337.0 337.0 B102 B302 44DN -4 vQ -800 -466.0 466.0
B103 B303 5v S-2 4Q -200 -337.0 337.0 B103 B303 3¢DS-4 a5 -800 -466.0 466.0
17 4104 Basta kontrakt 18 4 K103 Basta kontrakt
Nord v972 3v O =-140 Ost v EKn42 3 O =-110
Ingen ¢ ED742 NS 47643
972 & ¢ v &N &74 & ¢ v &N
87 & KDKn9 N48 467 « E87 465 N4 7 7 85
vDKn1064 vK85 S48467 vD5 v 9763 S47 785
4963 ¢+ Kn5 095976 ¢ K52 + Kn109 095646
&#EK4 #D653 V959786 #E10853 #KKn92 V956 46
& E6532 & DKn942
vE3 v K108
+ K108 + ED8
#Kn108 D6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E2 E202 3N O -3 & 150 266.0 -266.0 L102 L302 24 S +2 a7 170 233.0 -233.0
M1 M201 2N O -2 &T 100 221.0 -221.0 Q1 Q201 24 S+1 vQ 140 195.0 -195.0
M3 M203 2¢ N= *J 90 196.0 -196.0 12 1202 24 S +1 vQ 140 195.0 -195.0
11 1201 INV-1 *4 50 164.0 -164.0 A3 A203 24 S+1 vQ 140 195.0 -195.0
o1 0201 INV-1 *2 50 164.0 -164.0 G3 G203 34 S= vQ 140 195.0 -195.0
Q1 Q201 INV-1 *2 50 164.0 -164.0 D101 D301 24 S+1 vQ 140 195.0 -195.0
K2 K202 INV-1 *2 50 164.0 -164.0 J101 J301 34 N= vQ 140 195.0 -195.0
A3 A203 1INV-1 7 50 164.0 -164.0 P101 P301 24 S+1 vQ 140 195.0 -195.0
G3 G203 INV-1 *2 50 164.0 -164.0 B102 B302 34 S= vQ 140 195.0 -195.0
B101 B301 INV-1 *2 50 164.0 -164.0 F102 F302 34 S= *2 140 195.0 -195.0
D101 D301 INO-1 & 50 164.0 -164.0 J102 J302 24 S+1 vQ 140 195.0 -195.0
F102 F302 INV-1 *4 50 164.0 -164.0 H103 H303 24 S+1 a7 140 195.0 -195.0
H102 H302 1INV-1 *4 50 164.0 -164.0 M2 M202 1IN S +1 &5 120 176.0 -176.0
J102 J302 INV-1 *2 50 164.0 -164.0 N103 N303 INS= &3 90 135.0 -135.0
L102 L302 INV-1 *2 50 164.0 -164.0 E1l E201 3& V-1 a3 50 91.0 -91.0
N103 N303 1INV-1 *4 50 164.0 -164.0 M3 M203 3#& V-1 a3 50 91.0 -91.0
P103 P303 3v V-1 aT 50 164.0 -164.0 D102 D302 34 V-1 a3 50 91.0 -91.0
C1l C201 24 S-2 vQ -100 -1.0 1.0 Al A201 34 S-1 a7 -100 -65.0 65.0
F101 F301 2v O= a5 -110 -3.0 3.0 C1l C201 34 S-1 &A -100 -65.0 65.0
Al A201 2v V+1 aT -140 -45.0 45.0 Gl G201 34 S-1 a7 -100 -65.0 65.0
A2 A202 3y V= T -140 -45.0 45.0 o1 0201 INS-1 L ! -100 -65.0 65.0
G2 G202 2y O+1 & -140 -45.0 45.0 E2 E202 34 S-1 LY:] -100 -65.0 65.0
12 1202 3v V= &9 -140 -45.0 45.0 G2 G202 INS-1 &3 -100 -65.0 65.0
Q2 Q202 2v V+1 T -140 -45.0 45.0 02 0202 INS-1 &5 -100 -65.0 65.0
R102 R302 2v O +1 & -140 -45.0 45.0 03 0203 2NS-1 &3 -100 -65.0 65.0
D102 D302 24 S-3 vQ -150 -46.0 46.0 H101 H301 INS-1 &3 -100 -65.0 65.0
Gl G201 2y V+2 T -170 -85.0 85.0 N101 N301 INS-1 &5 -100 -65.0 65.0
K1 K201 2v V +2 aT -170 -85.0 85.0 R101 R301 34 S-1 &A -100 -65.0 65.0
Cc2 C202 2v V +2 aT -170 -85.0 85.0 N102 N302 44 S-1 vQ -100 -65.0 65.0
M2 M202 2v V +2 T -170 -85.0 85.0 11 1201 3% V= a3 -110 -65.0 65.0
H101 H301 2v V +2 aT -170 -85.0 85.0 M1 M201 3 V= a3 -110 -65.0 65.0
L101 L301 2v V+2 aT -170 -85.0 85.0 K2 K202 3% V= &7 -110 -65.0 65.0
N101 N301 3v V+1 T -170 -85.0 85.0 L101 L301 3& V= a3 -110 -65.0 65.0
P101 P301 2v V +2 aT -170 -85.0 85.0 R102 R302 3& V= & K -110 -65.0 65.0
R101 R301 2v V +2 aT -170 -85.0 85.0 B103 B303 3& V= a3 -110 -65.0 65.0
N102 N302 3v V+1 T -170 -85.0 85.0 K1 K201 INS-2 &5 -200 -178.0 178.0
P102 P302 24 V +2 aT -170 -85.0 85.0 A2 A202 INS-2 &2 -200 -178.0 178.0
E1l E201 2N O +2 a2 -180 -88.0 88.0 B101 B301 INS-2 &5 -200 -178.0 178.0
J101 J301 2v O +3 v2 -200 -111.0 111.0 F101 F301 44 S-2 vQ -200 -178.0 178.0
B103 B303 24D S -2 vlJ -300 -214.0 214.0 H102 H302 44 N-2 ¢J -200 -178.0 178.0
H103 H303 24D S -2 vQ -300 -214.0 214.0 P102 P302 44 S-2 a7 -200 -178.0 178.0
03 0203 4y V= T -420 -315.0 315.0 P103 P303 INN-2 +Q -200 -178.0 178.0
B102 B302 4v V +1 aT -450 -348.0 348.0 Cc2 C202 2N S-3 &3 -300 -273.0 273.0
02 0202 4vyDV = aT -590 -434.0 434.0 Q2 Q202 3NS-3 &3 -300 -273.0 273.0
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19 410975 Basta kontrakt 20 & K42 Basta kontrakt
Syd v7 7¢ S D-6-1400 Vast vD102 7%V =-2140
(6)) +D1084 Alla ¢ DKn43
#10742 & ¢ v & NT #852 & ¢ v & NT
« E84 « KD32 N27 121 4 E3 4 Kn1075 NO2 322
vKD986 v EKnNn5 S27121 v K7 v EKn54 S02322
4 965 *2 O 116 12108 + EK1082 ¢7 O 1311101011
*65 #EKKNn98 V 116 12108 #EKKN10 #D764 VvV 1311101011
4« Kn6 « D986
v 10432 v 9863
¢ EKKn73 4 965
D3 93
Par Kontr ut Res Poang Par Kontr ut Res Poang
R102 R302 6v V-2 +8 200 537.0 -537.0 M1 M201 6NV -1 »5 100 588.0 -588.0
12 1202 3N O -1 +3 100 516.0 -516.0 Cc2 C202 3NV +1 a4 -630 164.0 -164.0
M2 M202 34 O-1 ¢A 100 516.0 -516.0 G2 G202 3NV +1 a2 -630 164.0 -164.0
03 0203 44 V-1 v7 100 516.0 -516.0 M2 M202 3NV +1 &8 -630 164.0 -164.0
J101 J301 5 0O -1 *A 100 516.0 -516.0 M3 M203 3N O +1 48 -630 164.0 -164.0
C1 C201 3v V+3 LY -230 351.0 -351.0 B101 B301 3NV +1 »2 -630 164.0 -164.0
Al A201 24 N-5 A -250 348.0 -348.0 D101 D301 3N O +1 48 -630 164.0 -164.0
A3 A203 5¢DS-3 vK -500 155.0 -155.0 H101 H301 3NV +1 a2 -630 164.0 -164.0
El E201 4v V= +8 -620 51.0 -51.0 D102 D302 3NV +1 vT -630 164.0 -164.0
11 1201 4y V= oT -620 51.0 -51.0 R102 R302 3N O +1 49 -630 164.0 -164.0
A2 A202 4y V +1 aT -650 16.0 -16.0 B103 B303 3NV +1 vQ -630 164.0 -164.0
D101 D301 4v O +1 ¢A -650 16.0 -16.0 Al A201 3NV +2 »2 -660 126.0 -126.0
H101 H301 4v V +1 *2 -650 16.0 -16.0 El E201 3NV +2 a2 -660 126.0 -126.0
J102 J302 4v V +1 +8 -650 16.0 -16.0 Gl G201 3NV +2 &2 -660 126.0 -126.0
G1 G201 4v V +2 +8 -680 -17.0 17.0 11 1201 3NV +2 vT -660 126.0 -126.0
M1 M201 4v V +2 T -680 -17.0 17.0 A2 A202 3N O +2 &9 -660 126.0 -126.0
o1 0201 4v V +2 +8 -680 -17.0 17.0 E2 E202 3N O +2 48 -660 126.0 -126.0
Q1 Q201 4v V +2 +8 -680 -17.0 17.0 K2 K202 3NV +2 a2 -660 126.0 -126.0
C2 C202 5v V +1 +8 -680 -17.0 17.0 02 0202 3NV +2 43 -660 126.0 -126.0
E2 E202 4v V +2 +8 -680 -17.0 17.0 G3 G203 3NV +2 &2 -660 126.0 -126.0
G2 G202 4v V +2 aT -680 -17.0 17.0 03 0203 3NV +2 *4 -660 126.0 -126.0
02 0202 4v O +2 ¢ A -680 -17.0 17.0 J102 J302 3NV +2 a2 -660 126.0 -126.0
G3 G203 4v V +2 +8 -680 -17.0 17.0 H103 H303 3NV +2 &2 -660 126.0 -126.0
M3 M203 4v V +2 +8 -680 -17.0 17.0 N103 N303 3NV +2 v2 -660 126.0 -126.0
B101 B301 4v V +2 +8 -680 -17.0 17.0 12 1202 3NV +3 +3 -690 94.0 -94.0
F101 F301 4v V +2 .7 -680 -17.0 17.0 Q2 Q202 3NV +3 *Q -690 94.0 -94.0
P101 P301 4v O +2 ¢A -680 -17.0 17.0 A3 A203 3NV +3 a2 -690 94.0 -94.0
B102 B302 4v V +2 a7 -680 -17.0 17.0 F101 F301 3NV +3 +3 -690 94.0 -94.0
D102 D302 4v V +2 +8 -680 -17.0 17.0 N101 N301 3NV +3 +3 -690 94.0 -94.0
H102 H302 4v V +2 aT -680 -17.0 17.0 F102 F302 3NV +3 +3 -690 94.0 -94.0
L102 L302 4v V +2 T -680 -17.0 17.0 L102 L302 3NV +3 +4 -690 94.0 -94.0
N102 N302 4v V +2 +8 -680 -17.0 17.0 P102 P302 3NV +3 *4 -690 94.0 -94.0
P102 P302 5v V +1 +8 -680 -17.0 17.0 P103 P303 3NV +3 *4 -690 94.0 -94.0
B103 B303 4v V +2 +8 -680 -17.0 17.0 C1 C201 6# V= *2 -1370 -371.0 371.0
H103 H303 44 V +2 aT -680 -17.0 17.0 K1 K201 6 V= *2 -1370 -371.0 371.0
N103 N303 4v V +2 +8 -680 -17.0 17.0 o1 0201 6% V= a2 -1370 -371.0 371.0
P103 P303 4v V +2 +3 -680 -17.0 17.0 R101 R301 6# V= »2 -1370 -371.0 371.0
F102 F302 5¢DS-4 vK -800 -122.0 122.0 B102 B302 6& V= &5 -1370 -371.0 371.0
K1 K201 6v V= +8 -1430 -518.0 518.0 H102 H302 6# V= #3 -1370 -371.0 371.0
K2 K202 6v V= +8 -1430 -518.0 518.0 Ji10o1 J301 6# O +1 ¢+ Q -1390 -390.0 390.0
Q2 Q202 6v V= aT -1430 -518.0 518.0 L101 L301 6# O +1 v6 -1390 -390.0 390.0
L101 L301 6v V= + K -1430 -518.0 518.0 P101 P301 6 V +1 »2 -1390 -390.0 390.0
N101 N301 6v V= +8 -1430 -518.0 518.0 Q1 Q201 74 V= *2 -2140 -658.0 658.0
R101 R301 6v V= +8 -1430 -518.0 518.0 N102 N302 7# V= *2 -2140 -658.0 658.0
21 « EKn962 Basta kontrakt 22 « D864 Basta kontrakt
Nord vE2 54 N =650 Ost v K65 2NT O =-120
NS ¢ 108 oV ¢ Kn543
&#K752 & ¢ v & NT 64 & ¢ v & NT
45 « K1074 N9 9 9 119 «E9 & K72 N4 4774
v K107 v 6543 S99 9 119 vD109 v 84 S44774
+D76432 +K 033422 ¢ E92 + K1087 09 9 6 6 8
#D86 #Kn1093 V44422 #D10875 #KKn32 V9966 8
« D83 « Kn1053
v DKn98 v EKn732
¢ EKn95 + D6
&E4 &E9
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
H102 H302 3N S +2 +3 660 80.0 -80.0 C1 C201 3NV-2 v5 200 243.0 -243.0
El E201 44 N +1 *] 650 80.0 -80.0 J101 J301 34 N= *Q 140 185.0 -185.0
M1 M201 44 N +1 29 650 80.0 -80.0 11 1201 24 N= &3 110 150.0 -150.0
Q2 Q202 44 N +1 LN 650 80.0 -80.0 12 1202 24 S= »5 110 150.0 -150.0
M3 M203 44 N +1 LN 650 80.0 -80.0 K2 K202 24 N= 3 110 150.0 -150.0
B101 B301 44 N +1 LN 650 80.0 -80.0 G3 G203 24 N= *6 110 150.0 -150.0
D101 D301 44 N+1 &J 650 80.0 -80.0 03 0203 2v S= »5 110 150.0 -150.0
P101 P301 44 N +1 LN 650 80.0 -80.0 F101 F301 24 N= v8 110 150.0 -150.0
R101 R301 44 N +1 LN 650 80.0 -80.0 H101 H301 24 N= a2 110 150.0 -150.0
B102 B302 44 N +1 LN 650 80.0 -80.0 P102 P302 24 N= +8 110 150.0 -150.0
L102 L302 44 N+1 LN 650 80.0 -80.0 N103 N303 24 N= +3 110 150.0 -150.0
P102 P302 44 N +1 LN 650 80.0 -80.0 02 0202 44 V-1 v5 100 142.0 -142.0
B103 B303 44 N +1 &4 650 80.0 -80.0 L102 L302 44 V-1 v5 100 142.0 -142.0
P103 P303 44 N +1 LN 650 80.0 -80.0 o1 0201 2v S-1 *6 -50 -18.0 18.0
G3 G203 3NN +1 a7 630 38.0 -38.0 G2 G202 2v S-1 &5 -50 -18.0 18.0
Al A201 44 N= LN 620 38.0 -38.0 M2 M202 2v S-1 »7 -50 -18.0 18.0
C1 C201 44 N= v6 620 38.0 -38.0 A3 A203 24 N-1 v8 -50 -18.0 18.0
Gl G201 44 N= + K 620 38.0 -38.0 B101 B301 2v S-1 &5 -50 -18.0 18.0
K1 K201 44 N= LN 620 38.0 -38.0 D101 D301 2v S-1 »5 -50 -18.0 18.0
o1 0201 44 N= *] 620 38.0 -38.0 N101 N301 2v S-1 »7 -50 -18.0 18.0
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Q1 Q201 44 N= & 620 38.0 -38.0 P101 P301 24 N-1 v8 -50 -18.0 18.0
A2 A202 44 N= &T 620 38.0 -38.0 R101 R301 2v S-1 &5 -50 -18.0 18.0
Cc2 C202 44 N= &3 620 38.0 -38.0 B102 B302 24 N-1 v8 -50 -18.0 18.0
E2 E202 4e N= & 620 38.0 -38.0 F102 F302 2v S-1 &3 -50 -18.0 18.0
G2 G202 44 N= EN) 620 38.0 -38.0 B103 B303 2v S-1 &5 -50 -18.0 18.0
12 1202 44 S= +3 620 38.0 -38.0 H103 H303 2v S-1 s A -50 -18.0 18.0
K2 K202 4e N= & 620 38.0 -38.0 Al A201 34 N-2 &3 -100 -89.0 89.0
M2 M202 44 N= &T 620 38.0 -38.0 K1 K201 2v S-2 &5 -100 -89.0 89.0
02 0202 44 N= & 620 38.0 -38.0 D102 D302 2v S-2 &5 -100 -89.0 89.0
A3 A203 44 N= &Q 620 38.0 -38.0 J102 J302 3v S-2 &5 -100 -89.0 89.0
03 0203 44 N= EN) 620 38.0 -38.0 R102 R302 2v S-2 &5 -100 -89.0 89.0
H101 H301 44 N= & 620 38.0 -38.0 P103 P303 INN-2 vQ -100 -89.0 89.0
L101 L301 44 N= & 620 38.0 -38.0 El E201 3& V= v5 -110 -100.0 100.0
N101 N301 44 N= &T 620 38.0 -38.0 Gl G201 3s V= s -110 -100.0 100.0
D102 D302 44 N= +K 620 38.0 -38.0 Q1 Q201 3« V= v5 -110 -100.0 100.0
J102 J302 44 N= L ! 620 38.0 -38.0 A2 A202 3& V= v5 -110 -100.0 100.0
N102 N302 44 N= EN) 620 38.0 -38.0 E2 E202 3& V= v5 -110 -100.0 100.0
R102 R302 44 N= & 620 38.0 -38.0 M3 M203 3& V= v5 -110 -100.0 100.0
H103 H303 44 N= & 620 38.0 -38.0 L101 L301 3& V= v5 -110 -100.0 100.0
F101 F301 3NN= EN) 600 -2.0 2.0 N102 N302 3& V= v5 -110 -100.0 100.0
11 1201 44 N-1 &J -100 -486.0 486.0 Q2 Q202 1INV +1 v5 -120 -111.0 111.0
N103 N303 44 N-1 & -100 -486.0 486.0 M1 M201 3# V +1 v3 -130 -120.0 120.0
F102 F302 44 N-2 EN) -200 -523.0 523.0 H102 H302 34 O +1 +Q -130 -120.0 120.0
J101 J301 44 S-3 *2 -300 -573.0 573.0 Cc2 C202 3v S-3 &5 -150 -143.0 143.0
23 4 KD52 Basta kontrakt 24 464 Basta kontrakt
Syd v 106 2NT S =120 Vast v 1053 ANT O =-430
Alla + EKD8 Ingen + 108
D87 & ¢ v &N #1086432 & ¢ v & NT
& E743 #1098 N9 97 88 & E5 & Kn983 N6 6 27 3
v987 vEKKn32 S997 838 vK987642 vED S66 273
¢+ Kn74 ¢65 O4 46514 + K4 + D973 06 7 961
&#K103 &652 V446054 &K5 &DKn9 V66 969
& Kné « KD1072
v D54 vKn
¢ 10932 ¢+ EKn652
&#EKn94 &E7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E2 E202 2v O-2 +3 200 119.0 -119.0 P102 P302 5vDV-2 46 300 495.0 -495.0
02 0202 2v O-2 a] 200 119.0 -119.0 El E201 4v V-1 46 50 380.0 -380.0
A3 A203 1IN S +3 LY 180 105.0 -105.0 G2 G202 4v V-1 46 50 380.0 -380.0
Al A201 1NN +2 vA 150 61.0 -61.0 02 0202 4y V-1 46 50 380.0 -380.0
K1 K201 1IN N +2 vA 150 61.0 -61.0 A3 A203 5v V-1 *T 50 380.0 -380.0
Cc2 C202 1NN +2 T 150 61.0 -61.0 F101 F301 4v V-1 46 50 380.0 -380.0
B102 B302 1NN +2 aT 150 61.0 -61.0 R102 R302 4v V-1 46 50 380.0 -380.0
D102 D302 1NN +2 vK 150 61.0 -61.0 G3 G203 3NO= *2 -400 9.0 9.0
F102 F302 1IN N +2 a9 150 61.0 -61.0 B103 B303 3N O = a5 -400 -9.0 9.0
N102 N302 1NN +2 aT 150 61.0 -61.0 C1l C201 4v V= *T -420 -43.0 43.0
P102 P302 1IN N +2 aT 150 61.0 -61.0 K1 K201 4v V= T -420 -43.0 43.0
C1l C201 INN+1 v2 120 24.0 -24.0 M1 M201 4y V= *T -420 -43.0 43.0
M1 M201 1NN +1 vA 120 24.0 -24.0 Q1 Q201 4y V= *T -420 -43.0 43.0
o1 0201 INN+1 v2 120 24.0 -24.0 o3 0203 4y V= T -420 -43.0 43.0
A2 A202 1NN +1 vA 120 24.0 -24.0 B101 B301 4v V= *T -420 -43.0 43.0
G2 G202 1NN +1 vA 120 24.0 -24.0 J101 J301 4v O= +8 -420 -43.0 43.0
12 1202 IN N +1 v2 120 24.0 -24.0 N103 N303 4y V= T -420 -43.0 43.0
K2 K202 1NN +1 v2 120 24.0 -24.0 Gl G201 3NO +1 &K -430 -45.0 45.0
M2 M202 1NN +1 v4 120 24.0 -24.0 11 1201 3N O +1 & K -430 -45.0 45.0
Q2 Q202 INN +1 v2 120 24.0 -24.0 A2 A202 3N O +1 & K -430 -45.0 45.0
M3 M203 1NN +1 v3 120 24.0 -24.0 E2 E202 3N O +1 &K -430 -45.0 45.0
03 0203 2NN = vA 120 24.0 -24.0 K2 K202 3N O +1 & K -430 -45.0 45.0
B101 B301 INN+1 vK 120 24.0 -24.0 M2 M202 3N O +1 &K -430 -45.0 45.0
D101 D301 2NS= v9 120 24.0 -24.0 Q2 Q202 3NV +1 &K -430 -45.0 45.0
F101 F301 INN+1 aT 120 24.0 -24.0 H101 H301 3N O +1 & K -430 -45.0 45.0
J101 J301 INN+1 v2 120 24.0 -24.0 L101 L301 3N O +1 &K -430 -45.0 45.0
L101 L301 INN+1 v2 120 24.0 -24.0 N101 N301 3N O +1 &K -430 -45.0 45.0
N101 N301 1NN +1 v3 120 24.0 -24.0 P101 P301 3N O +1 & K -430 -45.0 45.0
R101 R301 1NN +1 v2 120 24.0 -24.0 R101 R301 3N O +1 &K -430 -45.0 45.0
J102 J302 2NN = &5 120 24.0 -24.0 B102 B302 3N O +1 &K -430 -45.0 45.0
R102 R302 1NN +1 vA 120 24.0 -24.0 D102 D302 3N O +1 & K -430 -45.0 45.0
B103 B303 1IN N +1 vK 120 24.0 -24.0 J102 J302 3N O +1 a K -430 -45.0 45.0
N103 N303 1NN +1 v4 120 24.0 -24.0 Al A201 4v V +1 *T -450 -87.0 87.0
P103 P303 1IN N +1 v3 120 24.0 -24.0 o1 0201 4y V+1 *T -450 -87.0 87.0
11 1201 3¢ N= vA 110 17.0 -17.0 M3 M203 4y V +1 46 -450 -87.0 87.0
L102 L302 3¢ N= vA 110 17.0 -17.0 D101 D301 4v V+1 L ! -450 -87.0 87.0
H103 H303 3& N= vA 110 17.0 -17.0 L102 L302 4v V+1 *T -450 -87.0 87.0
E1l E201 INN= vA 90 -20.0 20.0 N102 N302 4y V +1 T -450 -87.0 87.0
Q1 Q201 INN= v2 90 -20.0 20.0 H103 H303 4v V +1 *T -450 -87.0 87.0
G3 G203 3NN-1 vA -100 -223.0 223.0 P103 P303 4v V +1 *T -450 -87.0 87.0
H102 H302 3NN-1 vA -100 -223.0 223.0 Cc2 C202 3NV +2 *T -460 -87.0 87.0
Gl G201 3NN-2 v3 -200 -316.0 316.0 12 1202 4vDV +1 &6 -690 -298.0 298.0
H101 H301 3NN -2 vA -200 -316.0 316.0 H102 H302 4vyDV +1 *T -690 -298.0 298.0
P101 P301 3NS-2 v7 -200 -316.0 316.0 F102 F302 3ND O +2 aK -750 -359.0 359.0
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